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N FEREAMKER (LR ARR) KGRE
& i} B - IRDE By 2 i & # I

ERHER 4,014,884
EEAaE 85,918
SRR 3,811,062 x 51.1% - 8,254 1,939,198
—ERERSR 4,014,884 + 85,918 + 1,939,198 6,040,000
EERMm 1,207,520 + 6,284 1,213,804
EEAGE 1,207,520
EEZE 6,284
Z At 1,207,520 x 53.85% (35% + (1-35%)) 650,249
KR 1,213,804 + 650,249 1,864,053
—EEEE 1,864,053 X 53.85% (35% + (1-35%)) - 7,845 995,947
T FREREH 1,864,053 + 995,947 2,860,000
HEXRBR 6,040,000 + 2,860,000 8,900,000
HERFHEZER 8,900,000 x 10.00% 890,000
FESEAMKER (LR R KSEHE 8,900,000 + 890,000 9,790,000




BEAER

SHEREAN M NERR (L RAMR) KGR

& IR TR By WE m=E
KB 5,314,606
S e 5,314,606
KIGHE 4,014,884
KHE 4,014,884
KE KA 3,906,884
1 BKERE 1.00 | 142,800 142,800
2 HTOKMIEBRI(BEKAED) & 48.00 15,614 749,472
3 HTOKAIEDR (Rt Rk ATEt) . 24.00 7,807 187,368
4 BKEEN(BRE) . 24.00 7,246 173,904
5 hERA . 36.00 15,460 556,560
6 MEBKERE . 132.00 9,888 1,305,216
7 KESHAREHRK . 32.00 6,592 210,944
8 ERKESA . 30.00 7,775 233,250
9 ERKESNHB . 2.00 28,245 56,490
10 BRF—y=%E . 1.00 = 290,880 290,880
MR & 108,000
11 EHTHREBER 1.00 108,000 108,000




BEAER

SHEREAN M NERR (L RAMR) KGR

T % i) Mg - R IE EBfir T mE i &

DS 85,918
RELEE 85,918
12 REXBE(MEFAERR) 1.00 85,918 85,918

N
PR ESRTS 1,213,804
[R5 1,207,520
STiE - 2Ef 588,800
13 EtiE-#4E 1.00 588,800 588,800
BUR & 392,320
14 ZHFE5TRBIEFR 1.00 392,320 392,320
B R & 210,000
15 &S 1.00 210,000 210,000
RFARRRRADIER & 16,400
16 AFRERRBDIERK 1.00 16,400 16,400
=35 & 6,284
REEE 6,284
20 RERBE(IARER) 2 1.00 6,284 6,284
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EEETRIRKER (LR KGRE

#5:1
25 KB RE 1Ry
£ R g RTE B W E B & #| BB & &
MERES
A 5.00 27,200 136,000
R
% 5.00 136,000 6,800
=1 142,800
H5:2
B # T KAIELA (B EEKAIET) EEP
2 b g - FRTE B HE B & | W E & &
HESAERED
A 0.20 50,100 10,020
HhERES
A 0.20 27,200 5,440
HME
% 1.00 15,460 154
a5 15,614




sz
%S:3

EEETRIRKER (LR KGRE

B H T KATELA (ARgt oK AIEH) HEED
£ R g RTE B = B W E fm &
BB RED
A 0.10 50,100 5,010
MERES
A 0.10 27,200 2,720
R
% 1.00 7,730 77
=1 7,807
54
LR BKES(BE) EEP
2 £ g - FRTE B 2 B W E & &
HEAERED
0.01 50,100 501
FEHERES
0.10 36,800 3,680
HEFEES
0.10 27,200 2,720
M
% 5.00 6,901 345
=0 7,246
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EEETRIRKER (LR KGRE

#5:5
R RERE HEED
£ R g RTE B = B & #| BB & &
BB RED
0.20 50,100 10,020
MERES
0.20 27,200 5,440
=1 15,460
56
ZIR ERKERE EEP
2 b g - FRTE B 2 B & | W E & &
FEHERES
A 0.15 36,800 5,520
HhERES
A 0.15 27,200 4,080
HME
% 3.00 9,600 288
a5 9,888
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EEETRIRKER (LR KGRE

B OKE ST AERHEK HEED,
% i g -TRTE B fI = i e i &
FEMBERES
A 0.10 36,800 3,680
MERES
A 0.10 27,200 2,720
RHE
% 3.00 6,400 192
=1 6,592
#5:8
25 ERKE DA 1EIHY
& 5 & - FIRTE B 2 B HE & &
Bt
3 1.00 2,650 2,650
pH&E
3 1.00 575 575
BE
= 1.00 700 700
BRCEREC
[ 1.00 800 800
FRUDLAAY
[ 1.00 3,050 3,050
a5t 7,775




RAifz= EEETIERKERR (L 2R KEEE
%359
2 BAKESHTB HEED]
g G- FRTE B 2 B W E 5 &

]

[ 1.00 4,170 4,170
PN

[ 1.00 3,800 3,800
HBREERNUEHBERER

[ 1.00 4,400 4,400
TRREESREE R

[ 1.00 3,050 3,050
b=t

[ 1.00 2,650 2,650
BHEM(2BHIKR(TOC)DE)

[ 1.00 3,400 3,400
pHI&E

[ 1.00 575 575
73

[ 1.00 475 475
BS

[ 1.00 475 475
BE

[ 1.00 700 700
EE

[ 1.00 700 700
EXEEREC

[ 1.00 800 800
FTRUDLAAY

[ 1.00 3,050 3,050
&t 28,245




e SRR (R A AR
&5:10
BB —YEE 1D
# b IS - FRTE B A7 W e B ff & ¥ wWE " &
FEMERES
A 4.50 36,800 165,600
MERES
A 4.50 27,200 122,400
HME
% 1.00 288,000 2,880
=L 290,880
511
A TR REER =D
& i R - FARTA B A7 ¥ E B € B B E s &
EFRRBIER
= 1.00 108,000 108,000
&t 108,000
&5:12
B IREREE (MEREER) 1XHY
£ b S - FRTE B A7 ] B ff & B wWE w &
WERXBRE
=X 1.00 85,918 85,918
=5 85,918




Rifiz S ETEKER (LR AR KRS
£5:13
e e 1E=D)
# b IS - FRTE B A7 W e B ff & ¥ wWE " &
FEFED
4.00 58,600 234,400
FRETA
5.00 51,200 256,000
RERC
3.00 32,800 98,400
as 588,800
514
A TR REER =D
& i R - FARTA B A7 ¥ E B € B B E s &
FERED
3.20 58,600 187,520
FRERA
4.00 51,200 204,800
&t 392,320
&5:15
- RS 1XHY
£ b S - FRTE B A7 ] B f{ & B wWE s &
FEHED
2.00 58,600 117,200
RETA
1.00 51,200 51,200
1RETB
1.00 41,600 41,600
=5 210,000




Rz SEEETIMMRKERR (LR AR KSGRE
&5:16
2 AFEFARRRDIER 1RXHY
# i R - TARTE B fiI = B W E s &
RERC
A 0.50 32,800 16,400
e 16,400
H#5:17
B IREREE (AT ER) 1E=D)
& i S - FIRTE B A7 2 B W E s &
RERRE
E=S 1.00 6,284 6,284
= 6,284




